MATH 102 [Homework 1: Due on Wed., Feb. 23]

@ [Use Calculator and find answer up to 3 decimal places] Approximate the area under the curve
¥ 1 2coshx on the interval [-8,9] by using 2, 4, 7 rectangles of equal width with height

y=x'+e
as mid-point of the base of the interval of the rectangles.
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@ Find the antiderivative of the following functions: = 9392-7
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Evaluate:
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Q Suppose that a point moves along some unknown curve y = f'(x) in the xy-plane in such a way that at
each point (x,y) on the curve, the tangent line has the slope 1+ tan® x. Find an equation of the curve

given that it passes through the point (5,%} . [You must read Example 6 at page 383 of the text

before solving this question]
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a) Sketch the graph of y= ’2x-1| +Eby drawing proper xy-plane, and using shifts and appropriate

measurements on the axes. /\Jp!e.' [ a =} = .;J/ z- {/2’
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b) Using the graph in (a), find the area function A(x) under the graph in the interval [-4, x].
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¢) Find the Derivative of the Area Function. S @a-1)(x+ )/ .2
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d) Is A(x) differentiable for all values of x.? Explain.
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